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While studying this topic, tick off each item after you have covered it.
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17	Machines





What I should know:


Machines transfer energy from one store to�another. They let us do work more easily.


Efficiency  = 


The efficiency of a machine is always less�than 100%. This is because some energy�is always wasted due to friction.


In any machine, the energy tends to spread�out more and more, and become less useful.


A lever can be a force-magnifier or�a distance-magnifier.


In any machine, the smaller force always�moves the longer distance.


Other examples of machines are:


an inclined plane


gears


a wheel and axle


pulleys


hydraulic brakes (page 82). 





What I should be able to do:


Analyse an Energy Transfer Diagram�(Sankey diagram).


Calculate efficiency.


For a lever, decide which is the effort�force and which is the load force.


For a lever, decide if it is a force-�magnifier or a distance-magnifier.


Apply the principle of moments to a lever.
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